[bookmark: _GoBack]Supplementary File 1. CT figure of included patients.

Methods of Goddard score evaluation: HRCT images were selected at three levels including the aortic arch, carina and 1–2 cm above the highest hemidiaphragm. Six images were analyzed in three slices in the lungs and an average score of all images was considered as a representative value of the severity of emphysema in each person. Each image was classified as normal (score 0), 5% affected (score 0.5), 25% affected (score 1), 50% affected (score 2), 75% affected (score 3) and >75% affected (score 4).

[bookmark: _Hlk55853361]Patient NO1. Total score 14=up: 2(R)+4(L) + middle:2(R)+4(L) + low :1(R)+1(L)
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Patient NO2. Total score 14= up: 2(R)+2(L) +middle:2(R)+2(L) + low :4(R)+2(L)
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[bookmark: _Hlk55852232]Patient NO3. Total score 12= up: 2(R)+2(L) +  middle:2(R)+2(L) + low :2(R)+2(L)
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Patient NO4. Totalscore 7= up: 2(R)+1(L) + middle:1(R)+1(L) + low :1(R)+1(L)
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Patient NO5.Totalscore12= up: 3(R)+2(L) + middle:1(R)+1(L) + low :2(R)+1(L)
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Patient NO6. Total score 6= up: 1(R)+1(L) +middle:1(R)+1(L) + low :1(R)+1(L)
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Patient NO7. Total score 10= up: 2(R)+2(L) + middle:1(R)+2(L) + low :1(R)+2(L)
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[bookmark: _Hlk55853075]Patient NO8. Total score 18= up: 4(R)+2(L) + middle:3(R)+3(L) + low :3(R)+3(L)
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Patient NO9. Total score 18= up: 3(R)+3(L) + middle:3(R)+3(L) +low :3(R)+3(L)
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Patient NO10. Total score 14 = up: 2(R)+3(L) + middle:2(R)+3(L) + low :2(R)+2(L)
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Controls NO1：Total score 0 =up: 0(R)+0(L) + middle:0 (R)+0(L) + low :0(R)+0(L)
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Controls NO2：Totalscore 0=up: 0(R)+0(L) + middle:0 (R)+0(L) + low :0(R)+0(L)
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Controls NO3：Total score 0=up: 0(R)+0(L) + middle:0 (R)+0(L) + low :0(R)+0(L)
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Controls NO4：Total score 0=up: 0(R)+0(L) + middle:0 (R)+0(L) + low :0(R)+0(L)
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Controls NO5：Total score 0 =up: 0(R)+0(L) + middle:0 (R)+0(L) + low :0(R)+0(L)
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Controls NO6：Total score 0 =up: 0(R)+0(L) + middle:0 (R)+0(L) + low :0(R)+0(L)
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Controls NO7：Total score 0=up: 0(R)+0(L) + middle:0 (R)+0(L) + low :0(R)+0(L)
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Controls NO8：Total score 0 =up: 0(R)+0(L) + middle:0 (R)+0(L) + low :0(R)+0(L)
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